] 3. 7 Python T2 PG
from scipy.optimize import minimize
import numpy as np

import matplotlib. pyplot as plt

a0, b0 = (2., 1.)

theta = np. arange(0, 2 * np.pi, 0.01)

x0 = np. linspace (0.0, 5.0, 100)

y0 =5 - x0

fig = plt. figure()

axes = fig.add subplot(111)

axes. plot (x0, y0)

for r in range(5):
x = a0 + np. sqrt(r) * np. cos(theta)
y = b0 + np. sqrt(r) * np.sin(theta)
axes. plot (x, )

plt. show()

def fun(args):
a, b = args
v = lambda x: (x[0] — a) %k 2 + (x[1] — b) **x 2

return v

def con(args):
c = args

cons = ({"type’: "eq’, ’fun’: lambda x: x[0] + x[1] + c})

return cons

if name == " main ”:
B OECHEE
args = (2, 1)
B WESEBECHE/ AR
argsl = (-5)

cons = conf(argsl)

B WEYIIRE A

x0 = np. asarray ((0.01, 0.01))

res = minimize(fun(args), x0, method="SLSQP’, constraints=cons)
print (res. fun)

print (res. success)

print (res. x)



